
PARTS LIST

STOCK NUMBERDESCRIPTIONPART NUMBERQTYITEM

COMTIMSAF00022300 x 112mm SafalogTB-200-71341

COMTIMSAF00022850 x 112mm SafalogTB-200-71452

COMTIMSAF00022850 x 112mm SafalogTB-200-71513

COMTIMSAF00022300 x 112mm SafalogTB-200-71614

 SINGLE TYRE SWINGRS-100-05515

 TRAVERSING NETRS-100-05616

 SWINGING STEPSRS-100-05717

 898 LADDER RUNGMOD-600-102 LADDER RUNG18

COMSTEBRA10890MM X 45MM PLATE90 X 45 SS PLATE19

COMSTEMIS0020GROUND SHOEART. 1500 1000 GROUND POST510

COMHARBOL0162M10 X 50MM (DIN 7500D)M10 X 50MM HEX TAP-FIX SCREW511

COMSTABOL110M12 X 110 (DIN 603)M12 X 110 COACH BOLT1012

COMSTASCR150M12 X 150 COACH SCREWM12 X 150 COACH SCREW413

COMA2CBM12X200M12 X 200 COACH BOLTM12 X 200 COACH BOLT914

COMA2FWM12M12 WASHER (DIN 125)M12 WASHER 2415

COMA2NNM12M12 NYLOC NUT (DIN 985)M12 NYLOC NUT 2016

COMPLACAP000130MM BLACK CAP30MM BOLT COVER517

COMPLACAP0028TWO PART CAP2 PART CAP (BLACK)2418

 0.016³ CONCRETE FOUNDATION200 x 200 x 400119

 0.045M³ CONCRETE FOUNDATION300 x 300 x 500520

PRO-500-170 - ACADIA CLIMBING FRAME

12/07/2020

Page:

Product Range:

PROPRIETARY AND CONFIDENTIAL
 

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS.  ANY 

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION 

OF FENLAND 
LEISURE PRODUCTS IS PROHIBITED.

Tel: 01354 638359   www.onlineplaygrounds.co.uk

A3

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:
        LINEAR:                   ±2MM
        1 DECIMAL PLACE: ±0.5MM
        ANGULAR:               ±1°

DO NOT SCALE FROM DRAWING

PLAYGROUND EQUIPMENT

Title:

Date:

1.1M FFH

SURFACE LEVEL

1

2

1

2

3

4

5

6

2

2
3
5
0

2
4
0
6

5
0
0

5
5
6

1
1
0
0
 
M

A
X

6
0
0

7



PRO-500-170 - ACADIA CLIMBING FRAME

12/07/2020

Page:

Product Range:

PROPRIETARY AND CONFIDENTIAL
 

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS.  ANY 

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION 

OF FENLAND 
LEISURE PRODUCTS IS PROHIBITED.

Tel: 01354 638359   www.onlineplaygrounds.co.uk

A3

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:
        LINEAR:                   ±2MM
        1 DECIMAL PLACE: ±0.5MM
        ANGULAR:               ±1°

DO NOT SCALE FROM DRAWING

PLAYGROUND EQUIPMENT

Title:

Date:

WETPOUR SURFACING

AREA = 31.9M²

PERIMETER = 21 L/M

12 SAFAGRASS TILES (1.5M X 1.0M)

5721

5
8
5
1

1500

1
5
0
0

MIN SPACE

MIN SPACE



PRO-500-170 - ACADIA CLIMBING FRAME

12/07/2020

Page:

Product Range:

PROPRIETARY AND CONFIDENTIAL
 

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS.  ANY 

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION 

OF FENLAND 
LEISURE PRODUCTS IS PROHIBITED.

Tel: 01354 638359   www.onlineplaygrounds.co.uk

A3

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:
        LINEAR:                   ±2MM
        1 DECIMAL PLACE: ±0.5MM
        ANGULAR:               ±1°

DO NOT SCALE FROM DRAWING

PLAYGROUND EQUIPMENT

Title:

Date:

ALL FOUNDATIONS 300 X 300 X 600 DEEP UNLESS OTHERWISE SPECIFIED

2475

2
4
7
5

3

5

0

0

3
0
0

300

2

6

6

9

FOUNDATION 200 X 200 X 500 DEEP



A

B

C

PRO-500-170 - ACADIA CLIMBING FRAME

12/07/2020

Page:

Product Range:

PROPRIETARY AND CONFIDENTIAL
 

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS.  ANY 

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION 

OF FENLAND 
LEISURE PRODUCTS IS PROHIBITED.

Tel: 01354 638359   www.onlineplaygrounds.co.uk

A3

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:
        LINEAR:                   ±2MM
        1 DECIMAL PLACE: ±0.5MM
        ANGULAR:               ±1°

DO NOT SCALE FROM DRAWING

PLAYGROUND EQUIPMENT

Title:

Date:

1. STARTING WITH THE CLIMBING TRAVERSE FRAME: POSITION THE FRAME  ON THE 

   GROUND ADJACENT TO THE CORRESPONDING FOUNDATION HOLES.

    

    AS ILLUSTRATED BELOW, SECURE THE TOP HORIZONTAL BAR (ITEM 2) TO THE SECOND

    HOLE FROM THE TOP OF THE UPRIGHT TIMBERS (ITEM 1) USING THE SUPPLIED FIXINGS.

 

2. AS ILLUSTRATED IN FIG 2: SECURE THE CLIMBING TIMBERS TO THE FRAME USING THE 

   SUPPLIED FIXINGS TO THE DIMENSIONS GIVEN BELOW

   NOTE: The climbing timbers can be adjusted in height to suit the age range, not

    to go over 1.2m total height (surface level to top beam).

2

1

1

2

14

18

16

15

13

18

15

5
0
0

5
0
0

2
1
6
9

3. POSITION THE PREVIOUSLY BUILT FRAME IN THE FOUNDATION HOLE AND BRACE.

    ENSURE THE UNIT IS LEVEL AND PLUMB AND ADD RAPID SET CONCRETE TO SECURE.

 

TYRE SWING

 

4. WITH THE CONCRETE SET FROM THE PREVIOUS STEP: AS SHOWN BELOW POSITION 

    THE UPRIGHT TIMBERS (ITEM 1) INTO THE CORRESPONDING FOUNDATION HOLES.

    SECURE USING THE SUPPLIED FIXINGS AND USE SPARE TIMBER TO BRACE.

FIG 2

2475

S
E
E
 
N

O
T
E

3

1

14

18

15

16

SURFACE LEVEL

SURFACE LEVEL

2
2
9
4

1000 1475



D

E

PRO-500-170 - ACADIA CLIMBING FRAME

12/07/2020

Page:

Product Range:

PROPRIETARY AND CONFIDENTIAL
 

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS.  ANY 

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION 

OF FENLAND 
LEISURE PRODUCTS IS PROHIBITED.

Tel: 01354 638359   www.onlineplaygrounds.co.uk

A3

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:
        LINEAR:                   ±2MM
        1 DECIMAL PLACE: ±0.5MM
        ANGULAR:               ±1°

DO NOT SCALE FROM DRAWING

PLAYGROUND EQUIPMENT

Title:

Date:

TYRE SWING (CON'T)

 

5. AS ILLUSTRATED, ATTACH AND SECURE THE ROLL OVER BAR AND THE TYRE SWING

    USING THE SUPPLIED FIXINGS

SWINGING STEPS

 

6. AS WITH STEP 4: USE THE PRE-INSTALLED CLIMBING FRAME AS A BASE TO CREATE 

   THESE NEXT STEPS.

 

    POSITION THE UPRIGHT POST INTO THE FOUNDATION AND BRACE. SECURE THE TOP

    BEAM (ITEM 2) TO THE UPRIGHT POST (ILLUSTRATED PREVIOUSLY DETAIL C) 

 

7. HANG THE SWINGING STEPS ROPE SET AS ILLUSTRATED BELOW.

18 16

15

9

5

8

1
0
8
3

1
1
0
0

9
6
7

2
2
9
4

2363

5
1
3

6
4
3

532 650 650 532

2

1



AC-AC ( 1:25 )

F

AC AC

AD

PRO-500-170 - ACADIA CLIMBING FRAME

12/07/2020

Page:

Product Range:

PROPRIETARY AND CONFIDENTIAL
 

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS.  ANY 

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION 

OF FENLAND 
LEISURE PRODUCTS IS PROHIBITED.

Tel: 01354 638359   www.onlineplaygrounds.co.uk

A3

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:
        LINEAR:                   ±2MM
        1 DECIMAL PLACE: ±0.5MM
        ANGULAR:               ±1°

DO NOT SCALE FROM DRAWING

PLAYGROUND EQUIPMENT

Title:

Date:

NET TRAVERSE

 

8. AS WITH PREVIOUS STEPS, SECURE THE TOP BEAM TO THE SECOND (SECOND

   HOLE FROM TOP) WITH THE SUPPLIED FIXINGS.

 

    SECURE THE ROPE TO THE UNDERSIDE OF THE TOP BEAM, PULL DOWN, ENSURING 

    ROPE IS TAUT AND SECURE TO THE INSIDES OF THE UPRIGHT POSTS.

9. FINALLY, ENSURE ALL FIXINGS HAVE BEEN TIGHTENED AND PROTECTIVE CAPS IN PLACE. 

    ADD CONCRETE TO EACH FOUNDATION HOLE AND LEAVE FOR 48 HOURS

2

1

14

18

16

15

6

2
1
6
9

2
2
2
5

4
5
6

6
0
0

6
0
0

1
0
0

1
0
6

300

CONCRETE

12

10

16 15 18


